For help with #3 and #4, refer to Example 1 on
page 102,

3. Determine the length of each hypotenuse.

4. What is the length of each hypotenuse?
Give your answer to the nearest tenth of
a centimetre.

a)

y=7¢m

X=6cm

/ 5. a) What is the area of each square attached
I to the legs of the right triangle?

b) What is the area of the square attached
to the hypotenuse?

© What is the length of the hypotenuse?

For help with #6 and #7, refer to Example 2 on
page 102,

6. Determine the length of the leg for each
right triangle. '

a) c=25cm b) t=26cm

a=7an

$=24cm
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7. What is the missing length of the leg for
each triangle? Give your answer to the
nearest tenth of a millimetre,

a)

g=5mm

8. The side view of a
ramp at a grocery
store is in the shape of
a right triangle. Determine the length
of the ramp, to the nearest centimetre.

0 cm

200 cm

9. Tina wants to construct a path along the
diagonal of her yard. What length will
the path be? Express your answer to the
nearest tenth of a metre.

12m

10. What is the minimum distance the player
at third base has to throw the bal] to get
the runner out at first base? Express your

answer to the nearest tenth of 5 metre.
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11. The right triangle below has a square
attached to its hypotenuse. What is the
perimeter of the triangle? Give your
answer to the nearest tenth of a centimetre,

>
5mm
17 em
12. The hypotenuse of the triangle cuts the

circle in half. What is the diameter of the
50 cm circle? Express your answer to the nearest

tenth of a centimetre.
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13. Determine the length of the base of the

large triangle. Express your answer to the
nearest tenth of a millimetre.

" 14. What are the
lengths of b and ,
c? Write your bi-
answer to the
nearest tenth of
a metre where
appropriate.

le—3 m—»k;3 m—s

15. The coordinate grid shown was drawn on
centimetre grid paper. What is the length
of line segment AB? Express your answer
to the nearest tenth of a centimetre.
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16. What'is the length of the red diagonal
in the box? Express your answer to the
nearest tenth of a millimetre:



